50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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tﬁ' Semester B.E. Degree Examln?tlon, Jan./Feb. 2021

t,(n) +1,(n).€ Qlnax{g, (), g,(m)})  ( 5° (08 Marks)

Explain the' general plan for analyzing the efﬁc1ency of a recursive algorithm by considering

Tower of Hon01 problem as an example (08 Marks)
§ ‘/ ' o [ ¢ &

Apply Stressen’s matrix Iélultlphcatlon algorlthm t,"’ C
* {7

(08 Marks)
De51gn and analyse an algonthm for findings the sgnax1mum and minimum of an elements
using! D1v1de and Conquer Approach (08 Marks)

&

Module—3
rite the algorithm<to¢ ﬁnd optimal solutlon for _]Ob sequencing problem with deadline.

| N Af)ply the same a}gonthm for the followmg -dataset and find an optimal solution.

40, 15,27),
(08 Marks)

(08 Marks)
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OR
6 a. Whatis an Heap? Write an algorithm to sort the elements® usmg Heap Sort. (08 Marks)
b. Obtain the shortest distance cost and paths from node t0 :other nodes from the graph shown

in Fig.Q6(b).

(08 Marks)

n=4, [wl,wz,ﬁw% W4] [2,1,3,2], '
[p1, P2, P3, pa] = [12,10, 20, 15] and M 5o (08 Marks)
b. Solve the followmg traveling sales persony ymblém using dynarmc programming.

(08 Marks)

‘Dtaw the state space tree for 4 — Queen’s
£ (08 Marks)

é*-?rf\,w,SOlVC the followmg instance of Knapsacklproblem using Branch and Bound Approach,
] . [V, V2, V3, v4] = [40, 42, 25, 12]

(08 Marks)
OR
10 a. Define P, NP NP — completcmand NP — Hard classes. (08 Marks)
b. Solve the following mstances of assignment problem using Branch and Bound.
Jobl Job2 Job/3 Job 4
9 2. 71 8 |persona
Y 3 7 |person b (08 Marks)

1 8 |personc
9 4 |persond

* %k %k k ok
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